
Wood Desk Chair

Page 1

Thank you for purchasing furniture by Lea Industries. We are
honored that you have chosen our furniture to compliment
your home. Every effort has been made to ensure your
furniture is of the finest quality. If you find that your
furniture has a missing or damaged part, contact your local
Lea dealer. Thanks again for making Lea Industries a part of
your home.

4310 Regency Drive, Suite 101

High Point, NC 27265
336-294-5233
www.leaindustries.com

®

The taYouth Speci lis
TM

A La-Z-Boy Company®

Operating Instructions

Model Number:

816-774

FEATURES:

WARNING

WARRANTY

HEIGHT ADJUSTMENT
To raise seat first remove any weight from the seat and
lift the lever (1). To lower seat height, sit on the chair
and lift lever (1).

LOCKING TILT ADJUSTMENT
For individual comfort, this chair has been equipped
with an adjustment that will allow the user to change
the tension of the tilting feature. Turn knob (2)
clockwise to increase tension and counter-clockwise to
decrease or ease the tension. To lock, return the chair
to the upright position and push lever (1) in. To unlock,
pull lever (1) out.

NOTE: Be careful not to loosen the back tilt adjustment
knob completely.

1. Use this product only one person at a time.
2. Do not use this chair unless all bolts, screws, and knobs

are securely tightened.
3. Check that all bolts, screws, and knobs are tight every

three months or as needed.
4. Do not overturn back tilt knob when decreasing tension.
5. Dispose of packing material properly. Do not use plastic

cover as a head covering. It may cause suffocation.
6. Do not use the chair as a stepladder.
7. Use this chair for its intended purpose only.
8. Only use mild detergent for cleaning.

5 year limited warranty on all non-moving metal parts.
Seat plate, pneumatic cylinder, wood, plastic parts,
base, and casters for 2 years.

All warranties are limited to the original purchaser for non-
commersal usage for persons weighing 200 lbs. or
less.



Page 2Assembly Instructions

QTYDESCRIPTION ITEM

HARDWARE LIST

Wood Seat / Back /
Arm

Casters (pre-installed)

Base

Bellows

Pneumatic Cylinder

Seat Plate

1

1

2

5

1

1

2

3

4

1

1

5

6

NO.

1

QTYDESCRIPTIONITEM

HARDWARE LIST

Allen wrench 4mm

Lock washer 1/4”

Flat washer ”1/4

Bolt /2”1/4” x 1-1

4

12

12

1

8

A

B

C

D

E

F

NO.

Bolt 1/4” x 1”

8Plastic Cap

1. Remove all parts from the carton. Separate them by the part numbers indicated on the parts list. Verify
part quantities.

2. To begin assembly, place the ( ) upright so the ( ) are on the floor. Insert the
( ) into the ( ) and slip the ( ) over the ( ).

3. Attach the adjustable ( ) to the ( ), with the arrow pointing to the front of the chair.
Use the ( ) with a ( ) and a ( ) placed on the (A) first. Use the

( ) to tighten.
4. Place the assembled seat onto the ( ) and apply downward pressure.

Base 3 Casters 2 Pneumatic
Cylinder 5 Base 2 Bellows 4 Pneumatic Cylinder 5

Seat Plate 6 Wood Seat 6
Bolts A Lock Washer B Flat Washer C Bolt

Allen Wrench D
Pneumatic Cylinder 5

ATTENTION: MAKE SURE ALL BOLTS ARE FULLY TIGHTENED BEFORE USING THE CHAIR



Chaise de
Bureau en Boise

Page 1

4310 Regency Drive, Suite 101

High Point, NC 27265
336-294-5233
www.leaindustries.com

INSTRUCTIONS D’UTILISATION

Modèle Référence :

816-774

CARACTERISTIQUES:

REGLAGLE DE LA HAUTEUR

BLOQUER LA BALANCE

NOTER:

ATTENTION

GARANTIE

Pour remonter le siège enlever tout poids de lsur la chaise et
tirer le levier (1) vers le haut . Pour baisser le siège, vous
assoir sur la chaise et tirer le levier (1) vers le haut.

Pour votre confort personnel, cette chaise est équipée d’un
ajustement qui vous permet de choisir la tension de
balance qui vous convient le mieux. Pour vérouiller la
tension, mettre la chaise àm l’endroit et pousser le levier
(1) vers le centre. Pour déverouiller, tirer le levier (1) vers
l’extérieur.

attention de ne pas relacher complètement le
réglage de la balance.

1. Une seule personne à la fois sur cette chaise.
2. Ne pas utiliser cette chaise avant que tous les écrous, vis

et poignées ne soient bien serrés.
3. Tous les trois mois, vérifier que tous les écrous, vis et

poignées sont bien serrés.
4. Ne pas tourner la poignée de balance lorsque vous

relachez la tension.
5. Jeter les emballages de façon appropriée. Ne pas utiliser

le plastique sur la tête, car il peur provoquer une
asphixie.

6. Ne pas utiliser la chaise comme tabouret.
7. Utiliser cette chaise suelement our sa fonction initiale.
8. Pour le nettoyage, utiliser un produit doux et non abrasif.

Garantie limitée de 5 ans pour toutes les pièces métalliques
qui ne bougent pas. L’assise, le cylindre pneumatique, le
bois, les parties en plastique, la base et les roulettes sont
garantis 2 ans.

Tous les garanties sont valables pour l’acheteur initial pour
usage non commercial, et pour des personnes pesant
200lbs et en dessous.

Merci pour avoir acheté votre meuble chez Lea Industries. Nous
sommes honorés que vous ayiez choisi nos meubles pour embellir
votre foyer. Nous avons mis tous nos efforts pour vous fournir un
meuble de la meilleure qualité possible. S’il s’avère qu’une partie
est endommagée ou manquante, veuillez contacter le distributeur
Lea le plus proche. Merci encore d’avoir choisi Lea Industries pour
faire partie de votre vie quotidienne.

®

Speci ssalisée
l

d na s a jeune e
TM

La Compagnie La-Z-Boy
®



Page 2INSTRUCTIONS D’UTILISATION

QTYDESCRIPTION ITEM

HARDWARE LIST

Dossier

Siège

Bras

Roulettes (instalées)

Base

Cache

Cylindre Pneumatique

Plaque

1

1

2

5

1

1

2

3

4

1

1

5

6

NO.

1

QTYDESCRIPTIONITEM

HARDWARE LIST

Clé Alène 4mm

Rondelle d’Arrêt 1/4”

Rondelle Plate ”1/4

Vis Longue /2”1/4” x 1-1

4

12

12

1

8

A

B

C

D

E

F

NO.

Vis Courte 1/4” x 1”

8Cache Plastique

1. Sortir toutes les pièces du carton. Les séparer par référence comme sur la liste de quincaillerie. Vérifier la
quantité de chaque pièce.

2. Pour commencer l’assemblage, mettre la ( ) droite de sorte que les ( ) soient sur le sol.
Insérer le ( ) dans la ( ) et enfiler le ( ) sur le
( .

3. Attacher la () au cadre d’ (1), la flêche pointant vers le devant de la chaise. Utiliser pour cela les
( ) munies d’une ( ) et d’une ( ). Serrer avec la

( ).
4. Poser le siège assemblé sur le ( ), et appuyer sur le siège pour enclencher.
ATTENTION: BIEN VOUS ASSURER QUE TOUTES LES VIS SOIENT BIEN SERREES A FOND AVANT DE

VOUS ASSOIR SUR LA CHAISE.

Base 3 Roulettes 2
Cylindre Pneumatique 5 Base 2 Cache 4 Cylindre Pneumatique

5)
Plaque Assise

Vis Courtes A Rondelle d’Arrêt B Rondelle Plate C Clé Alène
D

Cylindre Pneumatic 4

Merci d’avoir acheter les

meubles des Industries Lea!



Silla de Escritorio
de Madera

Página 1

4310 Regency Drive, Suite 101

High Point, NC 27265
336-294-5233
www.leaindustries.com

INSTRUCCIONES DE OPERACIÓN

Número de Modelo:

816-774

CARACTERÍSTICAS:

AJUSTE AL TAMAÑO:

FIJAR EL AJUSTE DE INCLINACIÓN:

PELIGROS:

GARANTÍA

Para ajustar el asiento, quitar todo peso del asiento y apretar
la palanca 1. Para bajar el asiento, debes sentarse en el
asiento y apretar la palanca 1.

Para comodidad individual, este asiento ha sido equipado
con un ajuste que dará a la persona la oportunidad de
cambiar la inclinación. Debes dar vuelta a la perilla (2) en
la dirección del reloj para aumentar la tensión y dar vuelta
en la dirección contraria para disminuir la tensión. Para
fijar en su lugar el ajuste de la tensión, debes regresar el
asiento en forma recta y empujar la palanca (1) hacia
adentro. Para abrir el ajuste de tensión, jalar la palanca
(1) hacia fuera.

Nota: Debes tener cuidado en dar vuelta completamente a la
perilla.

1. Solo una persona a la vez debe usar el asiento.
2. No debes usar el asiento hasta estar seguro que todos los

tornillos, tuercas y perillas estén bien sujetados.
3. Revisar que todos los tornillos, tuercas y perillas estén

bien ajustados cada tres meses o cada vez que se
necesita.

4. No debes sobre girar la perilla al disminuir la tensión.
5. Deshacerse de la empaquetadura apropiadamente. No

usar el plástico para cubrir la cabeza. Esto puedo causar
asfixia.

6. No debes usar este asiento como una escalera.
7. Usar este asiento solamente para el propósito indicado.
8. Solo usar detergentes blandos para limpiar el asiento.

5 años de garantía limitada sobre todos las partes no-
movibles de metal. La armadura del asiento, el cilindro
neumático, madera, partes plásticas, base, y las ruedas
tienen garantía por 2 años. Todas las garantías son
limitadas al comprador original para uso no comercial por
personas pesando 200 libras o menos.

®

Espe dc nia
J

listas de uve tu
TM

Compania de La-Z-Boy ®

Gracias por comprar muebles de Lea Industries. Nos sentimos
honrados al ver que has escogido nuestros muebles para
decorar su hogar. Todo esfuerzo se ha hecho para asegurar la
mejor calidad de mueblería. Si encuentras partes no incluidas
o dañadas, llame a su agencia local. Gracias por hacer Lea
Industries parte de su hogar.



Página 2INSTRUCCIONES PARA ARMAR

Asiento de Madera
Espaldar
Brazos

Ruedas (Instaladas Previamente)

Base

Cubertor

Cilindro Neumático

Montadura del Asentio

1

1

2

5

1

1

2

3

4

1

1

5

6

NO.

1

Llave Allen 4mm

Arandela 1/4”

Arandela Plano ”1/4

Tornillo 1/4” x 1-1/2”

4

12

12

1

8

A

B

C

D

E

F

NO.

Tornillo 1/4” x 1”

8Tapa Plástica

INSTRUCCIONES:
1. Sacar todas las partes del cartón. Separar las partes de acuerdo con los números de la Lista de Partes.

Asegurarse que todas las partes estan incluidas.
2. Colocar la Base (3) derecho de manera que las Ruedas (2) queden en el suelo. Insertar el Cilindro Neumático

(5) en la Base (2) y luego poner encima el Cubertor (4) del Cilindro Neumático (5).
3. Unir la Montadura del Asiento (1) ajustable con el Asiento de Madera (6) con la flecha señalando hacia el

frente de la silla. Unir usando primero un Tornillo (A) con una Arandela (B) luego una Arandela Plano (C)
sobre el Tornillo (A). Usar la Llave (D) para ajustar. AJUSTAR COMPLETAMENTE TODOS LOS
TORNILLOS.

4. Colocar la silla armada sobre el Cilindro Neumático (5) y aplicar presión hacia abajo. ATENCIÓN:
ASEGURARSE QUE TODOS LOS TORNILLOS ESTEN AJUSTADOS ANTES DE USAR LA SILLA.

Pzs.DESCRIPCIÓN ARTÍCULO

LISTA DE PARTES

Pzs.DESCRIPCIÓNARTÍCULO

LISTA DE PARTES


	816-774 E 1b.pdf
	816-774 F 1b.pdf
	816-774 S 1b.pdf

